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Answers and commentaries

This resource is to be used alongside the AS Economics Component 7135/1 The Operation

of Markets and Market Failure June 2022 Question paper and inserts.

Context 1

Water

3 mark question

Question 21
Define ‘profit’ Extract B (line 9).
[3 marks]

Mark scheme

Level of | Response Max 3

response marks

3 A full and precise definition is given. 3 marks

2 The substantive content of the definition is correct, but there may | 2 marks

be some imprecision or inaccuracy.
1 Some fragmented points are made. 1 mark

Example of acceptable definition worth 3 marks:
total revenue minus total cost.

Examples of a definition worth 2 marks:

e revenue minus cost (no total)

e the difference between total revenue and total cost (no direction)
e the reward to an entrepreneur.

Examples of a definition worth 1 mark:

e the difference between revenue and cost (no total or direction)
e money made by firms.
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Student responses

Response A
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This is a Level 3 response

This answer scores the full 3 marks. The student has correctly given a full and precise

definition and achieves Level 3.

3 marks

Response B
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This is a Level 2 response

The student receives 2 marks for their answer. The substantive content of the definition is

correct but there is some imprecision. The student needed to be clear that total costs are
deducted from total revenue in order to receive full marks.

2 marks
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4 mark questions

Question 22
Extract C (line 11) states: ‘a bath may use 80 litres of water but a shower half as much'.

If a litre of water costs 0.4p, calculate how much money would be saved in a week if a family
of four each had a shower every day instead of a bath.

[4 marks]
Mark scheme
Calculation involves 40 x 4 x 7 x 0.4p = 448p or £4.48
Response Max 4 marks

For the correct answer (units required): £4.48 or 448p 4 marks

For the correct answer but with incorrect or missing units: 4.48 or 448 | 3 marks
or £448 or £44.8 (for example)

For the correct answer per person: £1.12 (or 112p) or per day £0.64 (or | 2 marks
64p)

OR

For the correct calculation but the wrong answer: 40 x 4 x 7 x 0.4

For the correct answer per day or per person but with incorrect or 1 mark
missing units: 1.12, 112, 0.64, 64 or £64 (for example)

OR

For multiplication of any three of the four required figures, with or
without correct units or answer: 40 x 4 x 7 or 40 x 4 x 0.4 or 40 x 7 x
0.40rdx7x04
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Student responses

Response A
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This is a 4-mark response

This answer scores the full 4 marks for the answer £4.48. They have carefully shown their

working - so in the absence of the correct answer due to a computational error they would
have secured some marks for their working.

4 marks

Response B
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This is a 3-mark response

The student receives 3 marks for their answer. They have arrived at an answer that

rewards the process but loses a mark for not recognising that the answer should include
the unit of pence instead of pounds.

It is advisable to double check the final answer to ensure it makes sense.

3 marks
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Question 23

Use Extract A to identify two significant points of comparison between the average annual
water usage of households with and without a water meter.

[4 marks]
Mark scheme
Award up to 2 marks for each point of comparison made.
Response Max 4 Marks
Identifies a significant point of comparison. 2 marks

Makes accurate use of the data to support the comparison identified.

Unit of measurement given accurately.

Identifies a significant point of comparison but only one piece of datais | 1 mark
given when two are needed and/or no unit of measurement is given
and/or the unit of measurement is inaccurate and/or the wrong date is
given.

OR

Identifies a significant feature of one data series with accurate use of the
data (including the unit of measurement) but no comparison is made.

If a candidate identifies more than two significant points of comparison, reward the
best two.

Significant points include:

e the lowest annual water usage with a meter is 66 cubic metres for a 1-person household
and the lowest annual water usage without a meter for a 1-person household is 54 cubic
metres

e the highest annual water usage with a meter is 216 cubic metres for a 6-person household
and the highest annual water usage without a meter for a 6-person household is 200 cubic
metres

e the average annual water usage is lower with a meter than without for households of 1-4
people, for example a 1-person household uses 54 cubic metres with a meter and 66
cubic metres without a meter

e the average annual water usage is higher with a meter than without for households of 5
and 6 people, for example a 5-person household uses 191 cubic metres with a meter and
182 cubic metres without a meter

e the greatest saving in average annual water usage with a meter is for a 1-person
household, using 54 cubic metres with a meter and 66 cubic metres without a meter (a
saving of 12 cubic metres)
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e the smallest saving in average annual water usage with a meter is for a 4-person
household, using 164 cubic metres with a meter and 165 cubic metres without a meter (a
saving of 1 cubic metre)

e the greatest increase in average annual water usage with a meter is for a 6-person
household, using 216 cubic metres with a meter and 200 cubic metres without a meter (an
increase of 16 cubic metres)

e the smallest increase in average annual water usage with a meter is for a 5-person
household, using 191 cubic metres with a meter and 182 cubic metres without a meter (an
increase of 9 cubic metres)

e the most similar average annual water usage with and without a water meter is for 4-
person households, who use 164 cubic metres with a meter and 165 cubic metres without
a meter (a difference of 1 cubic metre)

e the range of differences in average annual water usage with and without a water mater is
a saving of 12 cubic metres for a 1-person household to an increase of 16 cubic metres for
a 6-person household (a range of 28 cubic metres)

e the greater the number of people in the household, the greater the average annual water
usage with and without a meter, for example, for a 1-person household usage is 54 cubic
metres with and 66 without a meter, but for a 6-person household it is 216 and 200 cubic
metres respectively.

Student responses

Response A
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This is a 4-mark response

The important principle for this question is that students need to identify and clearly state
a significant point of comparison which must be supported by accurate use of the data.

The student receives 4 marks for their answer. They have identified 2 significant points of
comparison and used the data accurately to support the comparison. The units of
measurement (cubic meters) are used accurately.

4 marks

Response B
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This is a 2-mark response

The student receives 2 marks for their answer. The student does not identify a reason why
the first point of comparison is significant. The second point correctly identifies that the

smallest saving in average annual water usage with a meter is for a 4-person household,
using 164 cubic metres with a metre and 165 cubic metres without a metre.

2 marks
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Question 24

Extract C box (line 20) states: ‘Perhaps a maximum price should be set for water'.

Draw a diagram to show the impact on the market for water of setting a maximum price
below the equilibrium.
[4 marks]

Mark scheme

The correct diagram involves a supply and demand diagram, illustrating an initial equilibrium
point, a maximum price below equilibrium and some indication of excess demand, either by
writing ‘excess demand’ in the appropriate place or by labelling the two coordinates for supply
and demand at this new price (g1 and g2would be acceptable, for example, instead or gsand

qd).

Price

max p

Qs q qq Quantity
excess demand
Response Max 4 marks
Accurately drawn D/S diagram showing initial equilibrium, a maximum 4 marks

price drawn below equilibrium, and the resulting disequilibrium with excess
demand clearly illustrated, with both axes and all curves and coordinates
correctly labelled. Excess demand could be illustrated by just showing qd
and gsas above (for example) or by indicating the excess demand in some
other meaningful way.

Accurately drawn D/S diagram showing a maximum price below 3 marks
equilibrium with one label missing or incorrect (on axis or curve).

OR

Accurately drawn D/S diagram showing a maximum price below
equilibrium with one coordinate missing or incorrect (P or Q).

Accurately drawn D/S diagram showing a maximum price below 2 marks
equilibrium with two labels/coordinates missing/incorrect (treat excess
demand as one label).
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Accurately drawn D/S diagram showing an initial equilibrium point with 1 mark
both axes, both original curves and both coordinates correctly labelled, eg
p, g (Max p may be missing or not below equilibrium).

Notes:
Horizontal axis allow: Quantity of water, Quantity or Q (but not QD or QS or output).
Vertical axis allow: Price, P, £ or some monetary symbol (but not Price level).

Student responses

Response A

This is a 4-mark response

This answer scores the full 4 marks. The student has correctly placed the maximum price
below the equilibrium price and labelled the axes, demand and supply curves and price
and quantity coordinates correctly.

4 marks
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Response B

This is a 2-mark response

The student receives 2 marks for their answer. They have accurately drawn a demand and
supply diagram with the demand and supply curves labelled accurately. The maximum
price is shown at the equilibrium and the axes is labelled ‘price level rather than ‘price’ -
therefore the student loses 2 marks for 2 errors.

2 marks
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10 mark question

Question 25
Extract B (lines 13-14) states: ‘Most water (and sewerage) services are not provided by
competitive markets... Only businesses can choose their water supplier’.

Explain how firms in the water industry could compete to attract businesses or other
customers.

[10 marks]
Mark scheme
Level of An answer that: Max 10 marks
response
Level 3 e iswell organised and develops one or more of the key 8-10
issues that are relevant to the question marks
e shows sound knowledge and understanding of relevant
economic terminology, concepts and principles
e includes good application of relevant economic principles
and/or good use of data to support the response
e includes well-focused analysis with a clear, logical chain
of reasoning
e may include a relevant diagram to support their
explanation.
Level 2 e includes one or more issues that are relevant to the 4-7
question marks
e shows reasonable knowledge and understanding of
economic terminology, concepts and principles but some
weaknesses may be present
e includes reasonable application of relevant economic
principles and/or data to the question
e includes some reasonable analysis but it might not be
adequately developed and may be confused in places
e may include a relevant diagram to support their
explanation.
Level 1 e isvery brief and/or lacks coherence 1-3
e shows some limited knowledge and understanding of marks
economic terminology, concepts and principles but some
errors are likely
e demonstrates very limited ability to apply relevant
economic principles and/or data to the question
e may include some very limited analysis but the analysis
lacks focus and/or becomes confused
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e may include a diagram but the diagram is likely to be
inaccurate in some respects or is inappropriate.

Relevant issues include:

¢ meaning of ‘competitive markets’ and/or ‘competition’
¢ distinction between price and non-price competition
e competition by price

e improvement of ‘product’

e quality of service provided

e reduction of costs

e promotion/advertising.

Student responses
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This is a Level 3 response
This question is marked using a level of response mark scheme that assesses knowledge
and understanding, application and analysis. When awarding the mark, a judgement is

made regarding the overall quality of the response.

This answer scores 9 marks out of 10. The student has written an answer that is well

organised. They have considered factors that firms in the water industry could use to
compete to attract businesses or other customers by drawing upon the conditions of
demand and supply. They show sound knowledge and understanding of relevant
economic terminology and concepts, including using 2 relevant diagrams to analyse how
firms can compete. To achieve full marks, the student could make more use of the context.

9 marks
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Response B
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This is a Level 2 response

This answer scores 6 marks out of 10. The student demonstrates some reasonable
knowledge and understanding of price and non-price competition. There is reasonable
application to the case study with the student considering different water regions. The
analysis is not always adequately developed and there is a lack of clarity with the
diagrams. It is a reasonable response given the overall demands of the question.

6 marks
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25 mark question

Question 26
Extract C (line 9) states: ‘When people pay according to quantity used, they are less likely to
be wasteful'.

Use the extracts and your knowledge of economics to assess whether all households should
pay according to the amount of water they use.
[25 marks]

Mark scheme
The levels of response grid below should be used when marking the 25 mark questions.

Level of Response Max

response 25 marks

5 Sound, focused analysis and well-supported evaluation 21-25
that: marks

e iswell organised, showing sound knowledge and
understanding of economic terminology, concepts and
principles with few, if any, errors

e includes good application of relevant economic principles to
the given context and, where appropriate, good use of data
to support the response

¢ includes well-focused analysis with clear, logical chains of
reasoning

e includes supported evaluation throughout the response
and in a final conclusion.

4 Sound, focused analysis and some supported evaluation 16-20

that: marks

e iswell organised, showing sound knowledge and
understanding of economic terminology, concepts and
principles with few, if any, errors

e includes some good application of relevant economic
principles to the given context and, where appropriate,
some good use of data to support the response

e includes some well-focused analysis with clear, logical
chains of reasoning

e includes some reasonable, supported evaluation.
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3 Some reasonable analysis but generally unsupported 11-15

evaluation that: marks

o focuses onissues that are relevant to the question, showing
satisfactory knowledge and understanding of economic
terminology, concepts and principles but some weaknesses
may be present

e includes reasonable application of relevant economic
principles to the given context and, where appropriate,
some use of data to support the response

e includes some reasonable analysis but which might not be
adequately developed or becomes confused in places

e includes fairly superficial evaluation; there is likely to be
some attempt to make relevant judgments but these are
not well-supported by arguments and/or data.

2 A fairly weak response with some understanding that: 6-10 marks

e includes some limited knowledge and understanding of
economic terminology, concepts and principles but some
errors are likely

e includes some limited application of relevant economic
principles to the given context and/or data to the question

¢ includes some limited analysis but it may lack focus and/or
become confused

e includes attempted evaluation which is weak and
unsupported.

1 A very weak response that: 1-5 marks

e includes little relevant knowledge and understanding of
economic terminology, concepts and principles

e includes application to the given context which, at best, is
very weak

e includes attempted analysis which is weak and
unsupported.
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Areas for discussion include:

uses of water - drinking, washing, cooking

water as a scarce resource requiring allocation and rationing

analysis of pros and cons of current systems of paying according to property value or
amount used

water as a basic human need with characteristics of a merit good

potential external benefits

potential underconsumption and consequences of paying according to use

financial incentive to be more economical with water if metered

likely savings, both of water and on energy bills, including impact on the environment
usage for different numbers in households, with and without meters

cost of introduction of meters versus benefits of savings

equity versus efficiency

who gains, who loses?

either way, there is a lack of choice of supplier and potential for exploitation, depending
on effectiveness of regulation

could something be done to help vulnerable households?

could anything else be done as well or instead, for example a maximum price or
introducing more competition, as with businesses, and gas and electricity?

if metering is compulsory in some areas, why not all?

market failure versus government failure

an overall assessment of whether all households should pay according to the amount of
water they use.

The use of relevant diagrams to support the analysis should be taken into account when
assessing the quality of the candidate’s response to the question.
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Student responses

Response A
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This is a Level 5 response

The student begins by explaining the basic economic problem and relates this to the
demand for water. They show a good understanding of economic terms and principles in
the first part. The flow of reasoning is logical and considers the issues in the context of the
water industry. The student evaluates by using the concept of price elasticity of demand
for water. They draw a diagram, which is good. However, they could improve their analysis
of the diagram by explaining the impact of a price change using coordinates.

The next paragraph considers the impact of water metres on inequality. It then considers
the macroeconomic implications and possible negative externalities caused by low income
households substituting healthy food for unhealthy food because of paying a higher price
for water. The student draws a negative externality in production diagram which is not
explained and not relevant.

The final conclusion is fully focused on the demands of the questions and makes a clear,
supported judgement, just pushing the answer into a Level 5 response.

21 marks
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This is a Level 4 response

This answer achieves Level 4. The student begins by considering the cost to water
companies of installing water metres and relates this to reducing consumer demand for
water. There is some good application to the context and some good use of economic
terminology. The analysis is well focused with clear, logical chains of reasoning.

The next paragraph considers the impact of a growing population on water usage. It then

considers the opportunity cost of government intervention. The student shows sound
knowledge and understanding and makes few errors.

The final conclusion is clearly focused on the requirements of the questions and makes a
reasonable attempt to reach a judgement. Overall, a mid-Level 4 response.
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Context 2

Alcohol

3 mark question

Question 27
Define ‘income’ Extract F (line 10).

Mark scheme

[3 marks]

Level of Response Max 3 marks

response

3 A full and precise definition is given. 3 marks

2 The substantive content of the definition is correct, but 2 marks
there may be some imprecision or inaccuracy.

1 Some fragmented points are made. 1 mark

Examples of acceptable definitions worth 3 marks:

e aflow of (or over a period of time) money, received by an economic
agent/individual/household/firm/country (any of these is acceptable)

¢ aflow of (or over a period of time) money in exchange for factor services.

Examples of a definition worth 2 marks:
e money received by an economic agent/individual/household/firm/country (no flow or time

period)

e return to factors of production
e money from work.

Examples of a definition worth 1 mark:
e anexample of a source of income, eg wages, rent, interest, profit, revenue or benefits.

© 2024 AQA
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Student responses

Response A

—
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This is a Level 3 response

This answer scores the full 3 marks. The student has correctly given a full and precise

definition and achieves Level 3.

3 marks

Response B

InGoms. 1 Mgy €t by geoph 0 Lingloynile, ¥e—deretms

This is a Level 2 response

The student receives 2 marks for their answer. The substantive content of the definition is

correct but there is some imprecision. The student needed to be clear that income is a
flow or that income is received over a specific time period to achieve full marks.

2 marks
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4 mark questions

Question 28

According to Extract E (lines 6-7), the price of a standard bottle of whisky had to rise from
£10 to £14 in a discount supermarket, as a result of minimum unit pricing (MUP).

If the demand for whisky fell by 6.3% in the first year as a result of the price change, calculate

the price elasticity of demand for whisky, to two decimal places.

Mark scheme
Calculation involves -6.3 + 40 = -0.1575 which rounds to -0.16 (to 2 dp)

[4 marks]

Response Max 4 marks
For the correct answer: -0.16 4 marks
For the correct value, without the minus sign or not rounded to 2dp or 3 marks
rounded the wrong way or with added/incorrect units: 0.16 or -0.1575 or
-0.15 or -0.16% (for example)
For the correct value, without the minus sign and not rounded to 2dp or | 2 marks
rounded the wrong way or with added/incorrect units: 0.1575 or 0.15 or
0.16% (for example)
OR
For the correct calculation but the wrong answer: -6.3 + 40
For the correct equation for PED: % change in QD + % change in price 1 mark
OR
For the correct calculation of the percentage change in price: 40%
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Student responses

Response A
- 2 J : [4 marks]
Q . 10 = 1y b oo ZZ AL P
PE_\, /1 ro
=63  —0-JSIE ixB:]E
teo 7

This is a 4-mark response

This answer scores the full 4 marks for the answer -0.16. They have carefully shown their

working - so in the absence of the correct answer due to a computational error they would
have secured some marks for their working.

4 marks

Response B
PED = /. Qo Qucud:lku-l rlwrio(‘(
~
/o a pr;(c_. <
le—1vy
= C .17, I xloU

This is a 3-mark response

The student receives 3 marks for their answer. They have arrived at a correct answer but
lose a mark for not expressing the result to 2dp.

It is advisable to read the question carefully to meet the specific requirements.

3 marks
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Question 29
Use Extract D to identify two significant features of the affordability of alcohol index for the
UK, over the period shown.

[4 marks]

Mark scheme
Award up to 2 marks for each significant feature identified.

Response Max 4 Marks

Identifies a significant feature. 2 marks
Makes accurate use of the data to support the feature identified.

Unit of measurement given accurately.

Identifies a significant feature but only one piece of data is given when 1 mark
two are needed and/or no unit of measurement is given and/or the unit
of measurement is inaccurate and/or the wrong date is given.

If a candidate identifies more than 2 features, reward the best two.

Significant features include:

o affordability of alcohol was highest in 2017 at 163.8 on the index

o affordability of alcohol was lowest in 2011 at 149.0 on the index

e the range of affordability of alcohol was 14.8 on the index (from 149.0 to 163.8)

e alcohol was more affordable at the end of the period than the beginning, rising from 160.0
to 163.8 on the index (or 2.4%)

o affordability fell each year from 2008 to 2011, from 160.0 to 149.0 overall on the index (or
6.9%)

o affordability rose each year from 2011 to 2017, from 149.0 to 163.8 overall on the index
(or 9.9%)

e the greatest decrease in affordability was between 2010 and 2011, when the index fell
from 154.4 to 149.0 (a fall of 5.4 on the index, or 3.5%)

e the greatest increase in affordability was between 2014 and 2015, when the index rose
from 153.7 to 161.3 (a rise of 7.6 on the index, or 4.9%)

o the smallest decrease in affordability was between 2009 and 2010, when the index fell
from 154.9 to 154.4 (a fall of 0.5 on the index, or 0.3%)

e the smallest increase in affordability was between 2013 and 2014, when the index rose
from 152.9 to 153.7 (a rise of 0.8 on the index, or 0.5%)

e throughout the period, alcohol was more affordable than in the base year of 1980, with
the lowest level of affordability being 149.0 in 2011 (or any other figure could be quoted as
an example), compared to 100 in the base year.

Note: Reference to index numbers is needed for each feature, or the equivalent percentage
change, where applicable.
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Student responses

Response A - -
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This is a 4-mark response

The important principle for this question is that students need to identify and clearly state
a significant point of comparison which must be supported by accurate use of the data.

The student receives 4 marks for their answer. They have identified 2 significant points of
comparison and used the data accurately to support the comparison. They express the
answer as an index number.

4 marks
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This is a 2-mark response

The student receives 2 marks for their answer. The student does identify 2 significant

points of comparison but does not express the numbers in index form.

2 marks
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Question 30

Extract E (lines 2-3) states: The minimum age for buying alcohol is 18, although in some

countries, such as the US, the minimum age is 21".

Draw a diagram to show the impact on the market for alcohol of raising the age for buying

alcohol in the UK from 18 to 21.

Mark scheme

[4 marks]

The correct diagram involves a decrease in demand/shift to the left of the demand curve

resulting in a decrease in quantity sold and a decrease in price.

Price
Py
P
D1
0 Quantity

© 2024 AQA

Response Max 4 marks
Accurately drawn D/S diagram showing a leftwards shiftin D, old and 4 marks
new equilibrium price and quantity, eg P1Q1, P2Q2, with both axes and
all curves and coordinates correctly labelled (arrows not needed).
Accurately drawn D/S diagram showing a leftwards shift in D with one | 3 marks
label missing or incorrect (on axis or curve).
OR
Accurately drawn D/S diagram showing a leftwards shift in D with one
coordinate missing (P or Q).
Accurately drawn D/S diagram showing a leftwards shift in D with two 2 marks
labels or coordinates missing/incorrect.
OR
Accurately drawn D/S diagram showing an initial equilibrium point and
a leftwards shift in D but also a leftwards shift in S.
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Accurately drawn D/S diagram showing an initial equilibrium point with | 1 mark
both axes, both original curves and both coordinates correctly labelled,
eg P1Q1.

OR

Accurately drawn D/S diagram showing an initial equilibrium point and
a leftwards shift in D but also a leftwards shift in S and one or two
labels missing.

Notes:
Horizontal axis allow: Quantity of alcohol, Quantity or Q (but not QD or QS or output).
Vertical axis allow: Price, P, £ or some monetary symbol (but not Price level).

Student responses

Response A

Q;._LL

Quadry

i

This is a 4-mark response

This answer scores the full 4 marks. The student has correctly shown an inwards shift in

the demand curve and labelled the axes, demand and supply curves and price and
quantity coordinates correctly.

4 marks
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Response B

/" ;(;:A.LA{ .

This is a 2-mark response

The student receives 2 marks for their answer. They have accurately drawn a demand and
supply diagram showing a leftwards shift in demand with the demand and supply curves
labelled accurately. Two labels or coordinates are missing/incorrect.

2 marks
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10 mark question

Question 31

Extract E (lines 1-2) states: ‘alcohol has traditionally been viewed as a demerit good, subject

to high indirect taxes'.

Explain the likely effects of imposing indirect taxes on alcohol.

Mark scheme

[10 marks]

Level of An answer that: Max 10 marks
response
Level 3 e iswell organised and develops one or more of the key | 8-10
issues that are relevant to the question marks
¢ shows sound knowledge and understanding of
relevant economic terminology, concepts and
principles
e includes good application of relevant economic
principles and/or good use of data to support the
response
e includes well-focused analysis with a clear, logical
chain of reasoning
e may include a relevant diagram to support their
explanation.
Level 2 ¢ includes one or more issues that are relevant to the 4-7
question marks
e shows reasonable knowledge and understanding of
economic terminology, concepts and principles but
some weaknesses may be present
e includes reasonable application of relevant economic
principles and/or data to the question
e includes some reasonable analysis but it might not be
adequately developed and may be confused in places
e may include a relevant diagram to support their
explanation.
Level 1 e isvery brief and/or lacks coherence 1-3
marks
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e shows some limited knowledge and understanding of
economic terminology, concepts and principles but
some errors are likely

e demonstrates very limited ability to apply relevant
economic principles and/or data to the question

e may include some very limited analysis but the
analysis lacks focus and/or becomes confused

e may include a diagram but the diagram is likely to be
inaccurate in some respects or is inappropriate.

Relevant issues include:

¢ meaning of ‘indirect taxes’ and/or ‘demerit goods'

e impact on price and quantity perhaps supported by a diagram

e the significance of price elasticity of demand

e incidence of taxation

o effect on different income groups

e impact on other economic agents - sellers, government, local communities, etc.

Student responses

Response A
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This is a Level 3 response

This question is marked using a level of response mark scheme that assesses knowledge
and understanding, application and analysis. When awarding the mark, a judgement is
made regarding the overall quality of the response.

This answer scores 9 marks out of 10. The student has written an answer that is well
organised. They have a recognised that alcohol is a demerit good and creates negative
externalities. The student analyses the impact of imposing an indirect tax on alcohol and
the impact this has on the price and quantity of alcohol using a supply and demand
diagram. There are logical chains of reasoning and good use of the extract material.

To achieve full marks, the student could extend some of the chains of reasoning.

9 marks
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Response B
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This is a Level 2 response

This answer scores 6 marks out of 10. The student demonstrates some reasonable
knowledge and understanding of the impact of an indirect tax. There is reasonable

analysis of a demand and supply diagram but the student could extend the analysis
further. The extracts are not used and so the best fit is a mid-Level 2 response.

6 marks
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25 mark question

Question 32
Extract F (lines 20-21) states: ‘Cheap alcohol is wrecking lives and livelihoods in England as
well as Scotland'.

Use the extracts and your knowledge of economics to assess whether a minimum price for
alcohol should be introduced in England and Northern Ireland.
[25 marks]

Mark scheme
Use the levels of response table on page 18 and 19.

Areas for discussion include:

e recenttrends in affordability and pricing of alcohol

e alcohol as a demerit good and examples of private and external costs

e analysis of impact of a minimum price set above equilibrium

e current position on MUP in different parts of the British Isles

e problems and expectations in Scotland

e experience so far in Scotland

e significance of price elasticity of demand

e impact on different people - according to income, extent of alcohol use, etc

e equity issues

e analysis of impact of alternative/existing policies

e pros and cons of alternative policies

o effectiveness of MUP versus other policies

e whether there is a need for more action

e market failure versus government failure

e an overall assessment of whether a minimum price should be introduced in England and
Northern Ireland.

The use of relevant diagrams to support the analysis should be taken into account when
assessing the quality of the candidate’s response to the question.
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Student responses
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This is a Level 5 response

The student begins by analysing the impact of a minimum price on alcohol using a clear,
accurate diagram. The chains of reasoning flow logically and are developed using the

context of alcohol. The extracts are used well with relevant quotes selected and blended
into the analysis.

The student then compares a minimum price with imposing an indirect tax. They again use
a clear, accurate diagram to develop their analysis in context.

The final conclusion is supported by using the extracts to support the judgement. Overall,
the answer achieves a low Level 5 mark of 21.

21 marks
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This is a Level 3 response

The student begins with an introduction that receives some merit for a satisfactory
explanation of the aim of a minimum price. They use the extracts to justify implementing a
minimum price but do not include a diagram or explain in detail how a minimum price will
affect demand and supply. The knowledge and understanding is satisfactory but there are
some weaknesses present.

The student attempts an evaluation by considering the impact on inequality, which is a
reasonable point but then they drift into an unlikely scenario of individuals stockpiling
alcohol and causing an economic crash.

The final conclusion is superficial and is not supported by previous analysis or data.
Overall, the answer achieves a mid-Level 3 mark of 13.

13 marks
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